
�

�
�����	
� �
���������
�� �� � � � � ��� � �� �
���!"� #�$ % ��&'("� � �) � &� �(*

+,-.�/�� % �(*

Please follow below assembly steps
in the correct order :

Please note :
(1) Put carefully the front fender (#1) between two
attenuators, without scraping. Screw in #2~#5 and
then tighten.attenuators



�

� 0123456�������&'� 	�(5�� � � ������*

07�/(� �  � "(�*

�

� 089�� ��
 ������ 
 ���� �������*

012345:��
��&'� 	�(5&� � ( ��
�*

� $�;<�� $  *

Please follow below assembly steps
in the correct order :

Please note :
Insert spacers #2 and #3 in the front wheel, then put the
front wheel between two attenuators. Pass the front axle
through front wheel. Screw in the nut #5 and tighten.



�

�
=>?@ABC� �D����EFGHI
	
 �� 
 � � � ��� ���� �D������ ��� � ������� � �� 
 �
 ���

JK�L�	�
 ���
 �
 �� M �

� � !FGHI(SPRING WASHER-� !�

� NOP"BC� !� ���	�� ���� !� ����

Please follow below assembly steps
in the correct order :

Please note :
While assembling fascia #1, please screw in lightly hexagon
bolts #2 & #3 (See Fascia Ass'y Top), then tighten. Then,
screw #5 (See Fascia Ass'y Front).



� QRS#	� � � % ���� ���� �� � �

� � ��T$%(WASHER-� ���

� � ��U�V&�'$%	� � ��� ���� ��� #� �� � �� ���

� W(X)	�� ������ � �� ���

� W(X)	�� ������ � �� ���

� � ��V&	� � ��� ���

Please follow below assembly steps
in the correct order :

Please note :
(1) Before assembling handlebar, please take off at first
below parts from it : rubber gaskets #4 & #5, washers #6
& #7, and nuts #8 & #9.
(2) Then, assemble above parts in the correct order, and
tighten nuts #8 ~ #11 properly.



�

� Y�Z��[��� 	
�� 
� � 	�� � 
�� ��
� � �� *

Y����� 
� � 	�� � 
*

Please follow below assembly steps
in the correct order :

Please note :
(1) Before assembling headlight, please take off at first
nuts #2 & #3, then, re-assemble them in the correct order.
Please screw in lightly and then tighten.



� �\�]�� �� � ��� � 	�
�� � *

� ^_`
�� ������ � ��*

� �]���a� �� ������ �	�� �� ���*

Please follow below assembly steps
in the correct order :

Headlight Wire

Wiring box

Wiring box

Fixed Support for
Headlight - Left side

Please note :
(1) Pass through the headlight wire under the headlight,
between left fixed support and wiring box, then connect to
the 4th hole on the wiring box. (Please see fig. #1)
(2) Before connecting headlight wire, you need to loosen
the nuts #3 & #4 on wire cover #2.
(3) Fasten wire cover with nuts after connecting headlight
wire to the 4th hole of wiring box.4th hole

on wiring box

(fig. #1)


